4><100mR

(KE) 53.93 ( )2013 4 8 15:40
3
1
1 AC ) 56.83 2 AC ) 1:03.00 3 B( ) 1:03.92
5 3 2
2184 () 327 (C)) 525 ()
2185 (5) 321 (@) 528 (5)
2208 () 313 (C)) 496 ()
2207 (5) 311 (@) 488 (5)
4 A( ) 1:05.11 5 1:07.46 ( )
6 4 7 DSQ,R2
529 (5 2115 (C)) 4214 (5
527 (5) 2102 (5) 7039 (5)
494 (5 2109 () 7037 (C))
499 (5) 2116 (5) 7036 (5)
2
1 « ) 1:04.57 2 Y.W.C( ) 1:06.51 3 B( ) 1:07.52
7 3 2
4215 (@) 363 (5) 7040 (5)
2186 (C)) 7014 (C)) 2178 ()
2172 (@)) 347 (@) 2159 (5)
4224 (C)) 359 (5 2156 ()
4 « ) 1:08.56 5 « ) 1:11.24 « )
4 6 5 DSQ,R1
297 (5) 536 (@) 526 (5)
294 () 532 (C)) 524 ()
287 (@)) 506 (@) 495 (5)
289 (C)) 505 (C)) 490 )
3
1 ( ) 1:04.47 2 ) 1:07.19 3 J ( ) 1:07.75
5 2 3
2338 () 4213 (5 7043 (5
2350 (5) 2198 (5) 410 (@)
2313 () 2160 (5 396 (C))
2314 (5) 2163 (5) 411 (@)
4 « ) 1:08.74 5 ) 1:09.88 B( )
6 7 4 DSQ,R1
533 (C)) 2197 (C)) 333 (C))
535 (@) 2204 (@) 328 (@)
500 (€)) 4216 (€)) 315 (€))
503 (€)) 2171 (€)) 310 (@)
DSQ: R1: R2: -



